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  7 × ��|}¸º´ºóWþU|_ut�±yſxßßwzt2 
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1 7 þƛ�Èíò2 yWÖÿaÿx~ßß�<YWzw= 

2 7 ÃſW|}| or y}ſ»ú¶ð{¹ſ}²~�u{»ïÚ{}t¹¼»2 

   2KClOÿ ³MnOÿ³ 2KCl + 3Oÿ 

   2HÿOÿ ³MnOÿ³ 2HÿO + Oÿ 

3 × Zn; Zn(OH) ÿ³�1Cu;Cu(OH)ÿ³×�ò1Aÿ;ſW� AÿÿO³�ò1 

4 7 kwt2äûS}ÿÿÿÿÿï~Ñ^S}2ß[�÷|ßxv²Õt~ÿ[û{ÿ[|ßûu¼ 

            g_ûÿ[~u�ÿ~��ÿwr»2 

5 7 ſWvxwv��¹�2 

6 × 3mol ~NſWý}wïS2Fe2O3 + 3CO ³ 2Fe + 3CO2 

7 7 kwt Al Zn ~[_�ſx²yÿx²ßßy»2ſW{´|ſW{|og²{yS}²ogS}x

tv2 s~{{ Sn Pb zy|r»2ÿW�ÿ�ÿ 

       

      �xÿ 3,6 



 

 

_ i  ö}ÿ 2Clÿ ³ Clÿ ÿ 2eÿ   

     ÿ}ÿ 2HÿO ÿ 2eÿ ³ Hÿ + 2OHÿ    

    ~�y»�_(Clÿ+ Hÿ)~òûuÿ0.224/22.4 = 0.01mol 

    ~�y»�_(Clÿ+ Hÿ)~òûu = ÿ[~òûu(2eÿ) = 0.01mol 

    õ±ù÷üÛu¸º; 0.01mol×9.65×10ÿ= 9.65×10ÿC 

  s¼²ţw�f�wr»ÿ9.65×10ÿC÷5×10ÿ s =0.193 A     �xÿ 0.19A 

 

_ ii  úøú¶ðx|~ßß 

   2Na + 2HÿO ³ 2NaOH * Hÿ    

      oÜw� HCl ~òûu ÿ NaOH ~òûu = 0.016 mol 

    _ i ~ßß~ 2NaCl ³ 2Naÿ   + Clÿ  wClÿ �0.005mol~�w�~w  2Naÿ 0.01mol[�2 

  ¸sv1òx» Na ~òûuÿ0.016 ÿ 0.01 =0.006mol  

            23.0×0.006=0.138g     �xÿ0.14g 



 

 

}ùþ p.235.p.173,p.156 

yWÖÿcÿ Fe(Cl)ÿ Þ�òÿÿþ 

|ſWÖÿcÿ Fe(OH)ÿ Þ�òÿìÿ 

 

  Fe(Cl)ÿ ± ³ Feÿÿ ÿ 3Clÿ       

  Fe(Cl)ÿ ÿ[Feÿÿ] ÿ0.320mol/L             d 

 

    Fe(OH)ÿ ± ³ Feÿÿ ÿ 3OHÿ                                 

   þëþ� Ksp  = [Feÿÿ][ OHÿ]ÿ ÿ4.00×105ÿÿ (mol/L)ÿ  e 

  d¸º    [ OHÿ]ÿ ÿ4.00×105ÿÿ / 0.320 (mol/L)ÿ   f 

  |~´ºó� ÿ [Hÿ][ OHÿ] ÿ1.00×105ÿÿ (mol/L) ÿ  g  

  f1g¸º  [Hÿ] ÿ ÿ 105ÿÿ×0.320/(4.00×105ÿÿ) ÿ0.08×105ÿÿ8.00×105ÿ   

    ¸sv1  [Hÿ] ÿ2.00×1052   

        10ÿÿÿÿ2.00 z~w  [Hÿ] ÿ10ÿÿÿ×1052 ÿ1051.7 

         6 pH = 1.7                       �xÿ pH = 1.7 



 

}ùþ p.12 

_ i   ûý_~ÿ¿ÿ2rÿ  ûý_~ÿÛÿÿ2:3 rÿ =2 rÿ + 2 rÿ   

    6 rÿ/ rÿ = 1/(:3ÿÿ)ÿ(:3+ÿ)/2 = 1.36    �xÿ1.4 

_ ii   

  A ~ûý_~_�ÿ(2 rÿ)ÿÿ8 rÿÿ     

  A ~´ºó~_�ÿXÿ;1 [1Mÿ;1 [ 4Ã/3û(rÿÿ + rÿÿ ) 

 A ~U{÷ÿ   fA=4Ã/3û(rÿÿ + rÿÿ )/ 8 rÿÿ    

  B ~ûý_~_�ÿÿ(2 (rÿ+ rÿ)ÿÿÿ8 (rÿ+ rÿ)ÿ     

  B ~´ºó~_�ÿXÿ;4 [1Mÿ;4 [ 4Ã/3û(4rÿÿ + 4rÿÿ ) 

 B ~U{÷ÿ   fB=4Ã/3û(4rÿÿ + 4rÿÿ )/ 8 (rÿ+ rÿ)ÿ    

   fB/fA = 4 rÿÿ/(rÿ+ rÿ)ÿ =4(rÿ/ rÿ) ÿ /ÿ(rÿ/ rÿ)+1ÿÿ  ÿ0.765  

                                           �xÿ0.77 

 

 



 

p.32<ök÷= 

1 7 OtwÛw [_³�_ 

2 7 

3 7 

4 × �é}ökÿƛ_x�_²{ww}ztök2 

5 7  

6 × [_³ƛ_{YWy»x}�ëñ|r»2 

 

      �xÿ4 6  

 



 

 

p.120<ßß�þ= 

1 × ¿[HÿOÿ]/¿t = k¿[Oÿ]/¿t 

2 × v1=k1ÿHÿOÿÿ1v2=k2ÿHIÿÿ  ÿW�ßß_w�n~¹zt2ÿ 

3 × ïþ{�ß[wzt2 

4 × ŞgW¸ýû¾ü|_u�z»x1�r�þ���z»2 

5 × kßß�þ=k3ÿNÿÿÿHÿÿ3   �ßß�þ k4ÿNH3ÿ
ÿ   

   ßß�þ�ßß�_~òûïþ{ß[w1Vw{ß[wzt2  

6 × (ó÷)NH3  ~òûV÷�oþ²Nr»xǣ]y»2   

      �xÿëzw 

 

 

 

 

 

_(2)~�éök{ztv 

Nÿ ²ß´yxÿNÿ ²ǣ¹y�±óU}~ßß2   �é�óxû× 

wÛ²Nr»xÿwÛ²ur»�±V[u²ǣ¹yßß2�é�óxû×2 

oþ²Or»xÿoþ²Nr»�±óU}~~ñßß2 �é�óxû×2   

 



 

}ùþ p.44<vó�_xß��_=1p.28<ýÜ¼�w= 

1 × V[ë¯|z�{s±»_�|�}�z»�± pV �|�}�z»�± 

   z �ÿ¸º�}�z»2 

2 7 <Úo1Ow~gþw�vó�_x�zysx|w}»2= 

   Úo{z»xñÀ×¸ýû¾ü|�}�zºV[�Û~�ÿ|_u�zº1 

   Ow{z»xV[�Û~�ÿ|_u�zº1vó�_{ßz�2 

3 7 CHÿÿ16 , NHÿÿ17  NHÿ~ý|V[�Û|�}t~w z � CHÿ¸º_ut2 

4 7 |o|Útx¼�w|N|º1|¼�|ßx»2 

5 7 nA=nB=pV/RT  nA+nB=(p)2V/R2T=2pV/RT  6(p)=2p 

6 × <ýÜ¼�w�oþ~�{ß[y»2= 

   wÛ|YWwv²oþNÛ~~~z~w¼~1Ý~{�ÿ²Nxzt2 

   yw² 6p {wv²1|¼�w p/2 ~~~~�z1 

²û´ó~Vw�Vw~·Ï{¹ 3.5p×6/4=5.25pÿ  z~w15p {�z¹zt|1 

|¼�w�(p/2) ×6/4=0.75p x�z¹z1p/2 ~~~z~w1 

²û´ó~Vw� 5.5p xzº15p {�z¹zt2 

    

           �xÿ1,6 



 



  

_ i  NĪ¹úü¹~_�² V1�_Ûu² R(=8.31×10ÿPaL/(Kmol))xy»x 

   293K ~x}~ COÿ~öký{_¸º 

    1×10ÿV=(5.9×10ÿÿÿ3.9×10ÿÿ)R×293   ³ V=5.86R×10ÿÿ  L 

   313K ~x}~ COÿ~òûu² nA xy»x 

       pV=p×5.86R×10ÿÿ = nAR×313     

6 nA=(5.86/313)p×10ÿÿ=1.87×10ÿÿ×p=1.9×10ÿÿ×p    d 

                            �xÿÿÿÿ 

 

_ ii  ñ¿ó CH4|ßyó}w1| 1000g ² 313-293=20K Ngu{�~w 

   ~�w�ñß� 

     1000g×20K×4.2=84kJ 

      CH4+ 2O2 ³ CO2 + 2H2O +  8.4×102kJ  

      z~w~�w� CO2� 0.1mol wr»2 

      313K ~x}| 1L {þqvt» CO2~V[ß² nB xy»x 

      nB=2.4×10ÿ2×p/(1.0×10ÿ)=2.4×10ÿ7×p mol     e 

     S~ CO2xó}w~�w� CO2~Üÿ0.059+0.1=0.159mol       f 

        d1e1f¸º 

     nA+nB=1.87×10ÿÿ×p + 2.4×10ÿ7×p = 0.159mol 

     P=(0.159/4.27)×10ÿ ÿ3.723×10ÿ =3.7×10ÿ Pa 

�xÿ3.7 



 
p.94<}\¸ýû¾üxßßñ= 

C-H ~}\¸ýû¾üÿE4/4    C-C ~}\¸ýû¾ü² x xy»x 

¸¿ó H3C-CH3 ~}\¸ýû¾ü�(6/4)×E4+x   

ßßñ Q = �r{~}\¸ýû¾ü~ÿÜÿßß{~}\¸ýû¾ü~ÿÜ 

    = 2E2 + 3E3 ÿ ((3/2)×E4+x + (7/2)×E1) 

6 x= ÿ(7/2)×E1 +2E2 +3E3 ÿ(3/2)×E4 ÿQ    

 

 

 

 

 

 

 

 

 



 



 



 





 



 



 



 





 



 
 


